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Answers

1. B

2. C

3. A

4. B

5. D

6. D

7. D

8. B

9. D

10. A

11. A

12. D

13. B

14. A

15. C

Solve each problem.

1) Which choice is a
multiple of 6?

A. 76

B. 120

C. 101

D. 74

2) Which choice is a
multiple of 3?

A. 44

B. 53

C. 42

D. 59

3) Which choice is a
multiple of 6?

A. 102

B. 124

C. 89

D. 105

4) Which choice is a
multiple of 3?

A. 52

B. 45

C. 53

D. 49

5) Which choice is a
multiple of 5?

A. 91

B. 97

C. 104

D. 85

6) Which choice is a
multiple of 5?

A. 77

B. 79

C. 89

D. 55

7) Which choice is a
multiple of 10?

A. 185

B. 135

C. 119

D. 160

8) Which choice is a
multiple of 9?

A. 115

B. 126

C. 168

D. 138

9) Which choice is a
multiple of 3?

A. 34

B. 52

C. 35

D. 57

10) Which choice is a
multiple of 2?

A. 30

B. 37

C. 33

D. 23

11) Which choice is a
multiple of 2?

A. 24

B. 23

C. 27

D. 25

12) Which choice is a
multiple of 6?

A. 87

B. 101

C. 85

D. 108

13) Which choice is a
multiple of 9?

A. 158

B. 135

C. 188

D. 152

14) Which choice is a
multiple of 10?

A. 180

B. 125

C. 162

D. 168

15) Which choice is a
multiple of 10?

A. 204

B. 126

C. 180

D. 133
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